
 

 
 

Interest 
$816.00 

 
The Commission’s Office tells me to report interest and income; to amend the 

Seventh Account   
 

 



 

 
1,475.97 – 816.00 = 659.97 
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I wonder why the attendant "Int fm Harold O'Connell Trust   816.00" is not shown. 
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Example 2 
(Example of an accounting entanglement):

These two items are part of the accounting trail  1,475 - 816 = 659.   The accounting trail 1,475 - 816 = 659 is the simplest example of an accounting entanglement. The accountants who created it, reported it, and approved it do not recognize this accounting trail  or any accounting trail for these two items when asked.  The ubiquitous accounting entanglements in Bk467p191 make the accounting trails impossible to expose.

Can we get the accountant's to explain the accounting trail behind these two items? 
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Sticky Note
I do not understand why I could not find out about this until after it was done.
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Text Box
On December 30,1992, there is  a debts and demands for the Bk467p191 that shows the  "Int fm Harold O'Connell Trust  816.00" and 13 days later, on January 12, 1993,  I'm sent   instructions to list interest and amend the trust's seventh account. Perhaps it's no more complicated than I would have to be blamed for the 816.00 if I'm blamed for the 659.97.Perhaps it's also to make me appear at fault for not showing up at the debts and demands that I could not find out about until after it was over.
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Spreadsheets  
 
Spreadsheet 1, March  1,  1 page 
Spreadsheet 2. March 14, 4 pages 
Spreadsheet 3, March 15, 4 pages 
Spreadsheet 4, March 24, 5 pages 
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Text Box
I don't see the numbers 659.97 or 816.00 on any of the spreadsheets. 
I do see the number 1,475.97.
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	                     Interest  $816.00
	              1,475.97 - 816.00 = 659.97
	1992.04.22 to jean nader
	enclosure: "Debt from Harold O'Connell Trust          659.97"

	1992.05.19  edward white to anthony o'connell ("blueprint") 
	1992.10.16 book467page192  "Int fm Harold 'O'Connell Trust         816.00"
	1992.12.14 co-executors to jesse wilson
	1992.12.30 book467page195 (debts and demands)
	1993.01.12  commissioner's office to anthony o'connell (interest-amend) 
	1993.02.12 joanne barnes [forrest balderson] to anthony o'connell
	spreadsheets 
	1992 and 1993 and 1995  IRS schedule F  "Interest due Harold O'Connell Trust  816.00" 
	2000.08.08  jesse wilson to anthony o'connell (ref 659)



